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Addition Year 5.
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Name : Score :

Teacher : Date :
6 5161 2 527 8 5631 4 5207
7 583 8 5209 3 582 5 5324
3 5167 7 5333 9 5556 6 5177
2 577 9 5739 9 5142 8 5777
7 5471 3 5113 4 5143 6 5211

|‘|_'. =| Math-Aids.Com
.g. “i" | Division Worksheets



Solve 642 x 14

|

—-

- ’

Solve 543 x 13

1

]

Solve 324 x 15

T

Solve 362 x 16

7

Solve 452 x 15

=

NN
N

Solve 221 x 14

s

N




12
x5

11
x7

12
x2

11
x1

12

10
x10

12
x7

x10

10
x0

10
x10



Write the place value of the underlined

2659



Fill the numbers in place values

Number Thousands | Hundreds | Tens Ones
i |
9009 |

6375

8598 |

20

9709

6823

7766
1239 |

7910

711




Addition Year 5.
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Bus Stop Method Division: 4-Digit Numbers
by 1-Digit Numbers with Remainders

LO: I can use a formal method of division

1. 1468 + 3 =

9. 4521 + 8 =

2.3452 +5 =

10. 2804 = 5 =

3.7489 = 4 =

11. 6321 + 6 =

4, 1957 + 6 =

12. 5407 =+ 3 =

5.3652+ 7=

13. 3648 + 7 =

6. 5239 + 4 =

14. 1357 + 8 =

7.5269 + 9 =

15. 4635 + 4 =

8.7652 + 3 =

16. 3165 + 4 =

Look at the following calculations. Decide if you think there will be a remainder and explain
your reasoning. Then solve the calculation to check.

17. 3204 + 5 Will there be a remainder? Yes / No
Explain your answer.

Check your answer 3204 + 5 =

18. 3321 + 3 Will there be a remainder? Yes / No

Explain your answer.

Check your answer

3321 +3 =
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Fill the numbers in place values

Number Thousands Hundreds Tens Ones

9009

6375 |

8508 |
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9709
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